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Question Number : 1 Question Id : 753229405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
DS, 115, N22, S29, X36, ?

Options :
1. ¥ C43
2. % (C45
3. % B43
4. % B45

Question Number : 1 Question Id : 753229405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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D8, 115, N22, S29, X36, ?

Options :

1. ¥ C43

2. % C45

3. % B43

4. % B45

Question Number : 2 Question Id : 753229406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. Lamellosities

2. Lamellibranch

3. Lamprophonies

4. Lamprophonias

5. Laminectomies

Options :

1. # 12534

2. % 12543

3.9 21543

4. % 21534

Question Number : 2 Question Id : 753229406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Lamellosities

2. Lamellibranch

3. Lamprophonies

4. Lamprophonias

5. Laminectomies




Options :

1. # 12534
2. % 12543
3.9 21543
4. % 21534

Question Number : 3 Question Id : 753229407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ NR - QV
2. % QT-TW
3. % FI-IL
4. % XA -AD

Question Number : 3 Question Id : 753229407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ NR-QV

2. % QT-TW

3. % FI-1IL

4. % XA -AD

Question Number : 4 Question Id : 753229408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.



CG:DF::MT:?
Options :

1. % LS

2. ¥ NS

3. % NU

4. % LU

Question Number : 4 Question Id : 753229408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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CG:DF::MT:?

Options :

1. % LS

2. ¥ NS

3. % NU

4. % LU

Question Number : 5 Question Id : 753229409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related word pair from the given alternatives.
Odometer : Speed :: ?

Options :

1. ¥ Ammeter : Electric Current

2. % Anemometer : Body Temperature
3. % Balance : Length

4. % Pressure : Barometer

Question Number : 5 Question Id : 753229409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ THICR : fdggd Udre

2. % THIAMHICR : IRR BT A9HH

3. % RIS TR

4. % T WHCR

Question Number : 6 Question Id : 753229410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RACING’ is written as “TMRXZI’. What is the code for ‘QUAKES’ in that code language?
Options :

1. # HUPZFJ

2. # HVPZE]

3. ¥ HVQZFJ

4. ¥ HVPZF]

Question Number : 6 Question Id : 753229410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fARRIP IS U H, ‘RACING” BT “TMRXZI’ foraT SITdT 8 | 39 IS HIN & ‘QUAKES’ BT HIS & 82
Options :

1. ¥ HUPZFJ

2. ® HVPZEJ

3. ¥ HVQZFJ

4. ¥ HVPZFJ

Question Number : 7 Question Id : 753229411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five boxes A, B, C, D and E are kept one above the other (not necessarily in the same order). Two boxes are kept between B and C. A is kept just



above B. C is kept just below E.
Which box is kept in the middle?

Options :
1. % A
2. % B
3.D
4. % E

Question Number : 7 Question Id : 753229411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L% A

2. % B

3. D

4. % E

Question Number : 8 Question Id : 753229412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boys B1, B2, B3, B4, B5 and B6 like one car among six different cars C1, C2, C3, C4, C5 and C6 (not necessarily in the same order). B1 and
B6 do not like C3 or C4. B2 and B5 like C5 and C1 respectively. B4 does not like C3 or C6. B1 does not like C2.

Which of the following statement is correct?

I. B1 likes C6.

I1. B4 likes C4.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II



Question Number : 8 Question Id : 753229412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Bl & C6 TC &

II. B4 B C4 THC g

Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 9 Question Id : 753229413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons A, B, C, D, E, F, G and H sit around a circular table facing towards the centre (not necessarily in the same order). E sits fourth to
the right of A. Two persons sit between G and F. B sits to the immediate left of D. Two persons sits between E and G. One person sits between D
and H.

Which of the following statement is correct?

I. C sits to the immediate left of A.

II. One person sits between C and F.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 9 Question Id : 753229413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Had I

2. % Had I

3. % [ qUT el

4. % qIEIAIBI I

Question Number : 10 Question Id : 753229414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some D are F.

II. Some D are N.

Conclusions:

I. Some F are N.

II. Some N are D.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 753229414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had [T5HY [ 3IERU Hdl §

2. ¢ Had [HY 11 SR HT &

3. % G (IShY [ T 11 SFJIR0T 6’ &
4. % BI%  FIspy SRR T BraT g

Question Number : 11 Question Id : 753229415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some P are Q.

II. Some P are T.

II. Al T are B.

Conclusions:

I. Some P are B.

II. Some B are Q.

III. No Q is B.

Options :

1. ¥ Only conclusion I follows

2. ® Both conclusion I and II follows
3. % Both conclusion I and III follows
4. % Only conclusion III follows

Question Number : 11 Question Id : 753229415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ $Had [T5HY [ 3IIRU Hal §

2. % QI FISHY [ qYT 11 3FJAR0T 6’ §&

3. % GHI FSHY 1 T 111 3fIRRUI HRd §

4. % DHad FSHY [ STIR0T R §

Question Number : 12 Question Id : 753229416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
72,36, 108, 144, 252, 7

Options :

1. % 274

2. % 384

3. % 396

4. % 426

Question Number : 12 Question Id : 753229416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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72,36, 108, 144, 252, 7
Options :
1. % 274
2. % 384
3.9 396
4. % 426

Question Number : 13 Question Id : 753229417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
2,4,10,22,44,72, 114

Options :

1. % 10

2. % 22

3.9 44

4. % 72

Question Number : 13 Question Id : 753229417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2,4,10,22, 44,72, 114

Options :
1. * 10
2. %22
3.¥ 44
4. % 72

Question Number : 14 Question Id : 753229418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many rivers are neither water nor canals?
/m,a Canal
16

21 24 —— River
6

&F

Water

Options :
1. % 15
2. % 21
3.9 45
4. % 41

Question Number : 14 Question Id : 753229418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 15
2. % 21
3.9 45
4. % 41



Question Number : 15 Question Id : 753229419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement is correct?
I. The number of cuboids which are cubes is 36.
II. The number of cylinders which are not cuboids is 31.

Cylinder
NI
29
42 25 Cube
15
41 .
K_/\Cuhmd
Options :
1. % Only I
2. % Only IT

3. % BothIand II
4. % Neither I nor I1

Question Number : 15 Question Id : 753229419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. Had I
2. % HAAII
3. % 1 YT I gl

4. % Il IATBI I

Question Number : 16 Question Id : 753229420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person walks 10 km towards west. He turns to the left and walks 15 km. He turns to the right and walks 10 km. He again turns to the right and
walks 31 km. He walks 8 km towards east. How far is he now from the starting point?

Options :

1. ¥ 20 km
2. % 24 km
3. % 26 km
4. % 12km

Question Number : 16 Question Id : 753229420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.+ 20 fob 4.

Question Number : 17 Question Id : 753229421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man leaves from his home in the early morning and walks 12 km towards west. He turns to the right and walks 22 km. He turns to the right and
walks 20 km. He turns to the right and walks 5 km. He turns to the left and walks 4 km. Finally he turns to the right and walks 12 km. How far
and in which direction is he now from the starting point?

Options :

1. ¥ 17 km South-West
2. ¥ 17 km South-East
3. % 13 km North-East
4. #® 13 km North-West

Question Number : 17 Question Id : 753229421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 17 fop . <ferorufgm
2. % 17 fop 1. <férorgd
3. ¢ 13 for it SR-gd

4. % 13 fob Ot IR-UgH

Question Number : 18 Question Id : 753229422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

o # oo 3 o
% Xk ?
“yzx” NI

Options :

1.

Question Number : 18 Question Id : 753229422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

@
I-v:SF-‘J
1. %
@
k XP
2. ® 3
k;P
P VAN
3
kP
A

Question Number : 19 Question Id : 753229423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. %6
2. %8
3.7
4. %9



Question Number : 19 Question Id : 753229423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1S el H feba Byt 82

Options :
1. % 6
2.% 8
3.7
4. %9

Question Number : 20 Question Id : 753229424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cuboid having dimension 6 cm x 4 cm X 4 cm is painted such that the faces which are square are painted with black colour. Out of remaining
faces 2 adjacent faces are painted with blue colour and 2 adjacent faces are painted with green colour. Now the cuboid is cut into small cubes of
size 2 cm. How many cubes will have 2 faces green?

Options :
1. % 4
2.¥3
3.%2
4. % 6

Question Number : 20 Question Id : 753229424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 4
2.3
3.% 2
4. % 6
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Question Number : 21 Question Id : 753229425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bahai Temple is situated in which state/UT of India?
Options :

1. * Rajasthan

2. % Delhi

3. # Chandigarh

4. % Tamil Nadu

Question Number : 21 Question Id : 753229425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J8TS HieR HRA & oy Wred/bs Aiid vew & Ry g2
Options :

1. % SIRYTH

2. ¢ facedl

3. % dSNTG

4. % Qg

Question Number : 22 Question Id : 753229426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Powada” is a regional music of which state?
Options :

1. # Punjab

2. # Rajasthan

3. % Himachal Pradesh

4. ¥ Mabharashtra

Question Number : 22 Question Id : 753229426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
“TrareT fobg Iy &7 &g Iiftd g2
Options :

1. % Uole

2. % ST

3. % fgumad ue™

4. ¢ HERTY

Question Number : 23 Question Id : 753229427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The colour of the Mahatma Gandhi (New) Series Rs. 500 note is
Options :

1. # greenish yellow

2. # bright yellow

3. ¥ stone grey

4. % lavender

Question Number : 23 Question Id : 753229427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 =Y &b ARTHT e (TS) @A S A BB Bl
Options :

1. % Wi e

2. % §ISC Ul

3. ¥ &MY

4. % qdex

Question Number : 24 Question Id : 753229428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is correct regarding small industry in India?
I. Investment in Plant and Machinery or Equipment is not more than Rs.10 crore.
II. Annual turnover is not more than Rs. 5 crore.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 24 Question Id : 753229428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. ® qIAIATA

Question Number : 25 Question Id : 753229429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the common name of compound CaOCl,?
Options :

1. % Washing soda

2. % Plaster of Paris

3. ¥ Bleaching powder

4. * Quick lime

Question Number : 25 Question Id : 753229429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

CaOCl, A1 H1 y=iferd 918 a1 82
Options :

1. ® 9 BT ST

2. ¥ TR 3 Uy

3. ¢ fo¥o® gul

4. % ST TLAT

Question Number : 26 Question Id : 753229430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The image formed by a concave lens is always and
Options :

1. # Real, Inverted

2. % Real, erect

3. # Virtual, inverted

4. % Virtual, erect

Question Number : 26 Question Id : 753229430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gRdfde, Jeel

2. % JRdfde, TieT

3. % JTHR, JefeT

4.« MU, e

Question Number : 27 Question Id : 753229431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Cockroach is an example of

Options :

1. # Annelida

2. % Arthropoda

3. ¥ Nematode

4. % Mollusca

Question Number : 27 Question Id : 753229431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foeaer  ®I3eRRURI
Options :

1. % gHiferer

2. ¢ TS

3. % fAAeraT

4. % HIRDT

Question Number : 28 Question Id : 753229432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the highest peak in Eastern Ghats.
Options :
1. ¥ Mahendragiri
2. ®# Kanchenjunga
3. ¥ Makalu
4. ® Dhaulagiri

Question Number : 28 Question Id : 753229432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udf gTe &1 9ad Sl Al g




Options :

1. ¢ HEGiRI
2. % G
3. % HhIqg
4. % SIAARI

Question Number : 29 Question Id : 753229433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a process of change of population?
Options :

1. # Birth

2. % Death

3. % Migration

4. ¥ Unemployment

Question Number : 29 Question Id : 753229433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I &I I S § g1 ardl gRad- ! uihar Tal 82
Options :

1. % 94H

2. % g

3. % Yd™

4. SRISATRY

Question Number : 30 Question Id : 753229434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The river Indus rises in Tibet, near lake Mansarowar.
II. Brahmaputra river is also known as Jamuna in Tibet.



Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 30 Question Id : 753229434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 oF 91 HuF 981 82

1. Ry 71 31 g0 AR 2ia & Fde fAssa # g
I1. STRIYA 1 & foesd o g1 ot SeT S |
Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 31 Question Id : 753229435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following raised the slogan, “Freedom is my birth right and I shall have it”?
Options :

1. ¥ Bepin Chndra Pal

2. % Bal Gangadhar Tilak

3. ® Lala Lajpat Rai

4. ¥ Mahatma Gandhi

Question Number : 31 Question Id : 753229435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad o 9 forem a8 AT fean o fos «xad=rar IR oG iR § 3R & 39 Ao g




Options :

1. % fofoq dg urd

2. ¢ S TR fadd
3. % oTcll dogd ™
4. % TgTH TMeh

Question Number : 32 Question Id : 753229436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
were the first European to arrive in India.
Options :
1. # French
2. # Dutch
3. % British
4. ¥ Portuguese

Question Number : 32 Question Id : 753229436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA T 3 97 Ugdl GRIU 3|

Options :

1. % T

2. %89

3. % fofewr

4. ¥ YaTTent

Question Number : 33 Question Id : 753229437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year practice of Sati was banned?
Options :



1. * 1832
2. % 1824
3. ¥ 1829
4, % 1825

Question Number : 33 Question Id : 753229437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordt o & Teft vt oR Uiy e e T A
Options :

1. % 1832

2. % 1824

3.9 1829

4. % 1825

Question Number : 34 Question Id : 753229438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the 48th Chief Justice of India?
Options :

1. # S.A. Bobde

2. % N.V. Ramana

3. % Deepak Mishra

4. ¥ Rekha Menon

Question Number : 34 Question Id : 753229438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & 48 § T AT B g2

Options :

1. % U d§s



2.« TG AT
3. % diusd e
4. % TG HAT

Question Number : 35 Question Id : 753229439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Headquarters of International solar alliance is situated in
Options :

1. # France

2. ¥ India

3. ¥ Germany

4. # Australia

Question Number : 35 Question Id : 753229439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS R e H1 g # Ry g
Options :

1. % Y

2. % HRd

3. % ST

4. % 3freefer

~

Question Number : 36 Question Id : 753229440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In May 2021, which of the following organisation has launched “SHWAS” and “AROG” loan schemes for MSMEs?
Options :

1. % RBI

2. % SBI



3. ¥ SIDBI
4. % NABARD

Question Number : 36 Question Id : 753229440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ts 2021 H Fafafad # § {6y WTed A TH.09.TH 3. & AU “SHWAS” 94T “AROG” U1 TSI = B1 87
Options :

1. % R,

2. % T3S,

3. ¥ TH 315 Sl 3,

4. % AIeTS

Question Number : 37 Question Id : 753229441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has the power to regulate the right of citizenship in India.
Options :
1. # President
2. # Prime minister
3. % Parliament

4. ¥ Supreme court

Question Number : 37 Question Id : 753229441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& U HRA H ARG & 3R o fafaftd &1 ot w81

Options :




4. % gl ATy

Question Number : 38 Question Id : 753229442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the power of Parliament to amend the constitution and procedure therefore?
Options :

1. % Article 362

2. % Article 368

3. % Article 342

4. % Article 318

Question Number : 38 Question Id : 753229442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU &1 D AT SJe AU BT IR I D1 I¥E $I fad 3R 39D fad Ufehar I Faiferd g2
Options :

1. % 34 362

2. ¥ 3G 368

3. % TG 342

4. % 396 318

Question Number : 39 Question Id : 753229443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the first common wealth games were held?
Options :

1. % 1931

2.% 1930

3. % 1932

4. % 1936



Question Number : 39 Question Id : 753229443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH ATHST W (o ay Sriford fobe 71T 22
Options :

1. #® 1931

2. ¥ 1930

3. % 1932

4. % 1936

Question Number : 40 Question Id : 753229444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘Double Fault’ is associated with which sports?
Options :

1. % Football

2. % Basketball

3. # Golf

4. ¥ Tennis

Question Number : 40 Question Id : 753229444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S lee” eg [y W U Haiferd g7
Options :

1. % Bedld

2. % JR&bedld

3. % Mh

4.« A9
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Question Number : 41 Question Id : 753229445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of (0.5)% + (0.05) 2?
Options :

1. ® 0.525

2. % 0.2500



3. % 0.6250
4. % 0.2525

Question Number : 41 Question Id : 753229445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0.5)2 + (0.05) 2 BT HIT o1 82

Options :

1. # 0.525

2. % 0.2500

3. % 0.6250

4. ¥ 0.2525

Question Number : 42 Question Id : 753229446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of (246 + 44)? — (246 — 144)??
Options :

1. %392 x 188

2. % 396 x 192

3. % 400 x 204

4. % 400 x 192

Question Number : 42 Question Id : 753229446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(246 + 44)2 — (246 — 144)2 T A &1 32
Options :

1. % 392 x 188

2. % 396 x 192

3. % 400 x 204



4. % 400 x 192

Question Number : 43 Question Id : 753229447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Highest Common Factor of 18/5 and 24/25?
Options :

1. #* 6/5

2. % 2/5

3. ¥ 6/25

4. % 72/5

Question Number : 43 Question Id : 753229447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18/5 TUT 24/25 HT HEqH FHIIAID HT 52
Options :

1. ® 6/5

2. % 2/5

3. ¥ 6/25

4. = 72/5

Question Number : 44 Question Id : 753229448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of ‘E+ﬁ+2\h—4 ?
28+ 2112 -4/63

Options :

5+2.2
6

1. =



54342

9 ® T

4422

3. 7

2+3.f5

4, ® 7

Question Number : 44 Question Id : 753229448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

\E+Jﬁ+2\f1_4
Jﬁ+2ﬁ—\/ﬁ

Options :
5+2.2
6

T AT FT 27?

1. %

S0

) ® T

4+2-2

3. 7

24345

4, ® 7



Question Number : 45 Question Id : 753229449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a=4+3%5.b=4— 345 then. what is the value of a® + b??
Options :
1. #® 125
2.¥ 122
3. % 120
4. % 112

Question Number : 45 Question Id : 753229449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfE a=4+3V5.b=4-35 g, ar a2 + b FT AT FIT &7

Options :
1. % 125
2.9 122
3. % 120
4, % 112

Question Number : 46 Question Id : 753229450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the difference between averages of p and q and the averages of q and r is 15.5, then what is the difference of p and r?
Options :

1. ¥ 31

2. % 36

3. %29

4, % 28



Question Number : 46 Question Id : 753229450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e p qUT q B 3G TUT q AT+ F 3G BT 3R 15.5 8, A p AU+ P &1 BT 3R T /2
Options :

1. ¥ 31

2. % 36

3.% 29

4. % 28

Question Number : 47 Question Id : 753229451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 10 percent of 20 percent of 5/2 of 22007
Options :

1. % 11

2.% 10

3.4 110

4. % 100

Question Number : 47 Question Id : 753229451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2200 % 5/2 & 20 IR & 10 T=Td BT A T 62
Options :

1. % 11

2. %10

3.4 110

4. % 100

Question Number : 48 Question Id : 753229452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If price is decreased by 25 percent, then by how much percentage consumption should be increased, so that the expenditure remains the same?
Options :

1. # 66.66 percent

2. % 37.5 percent

3. % 33.33 percent

4. ¥ 16.66 percent

Question Number : 48 Question Id : 753229452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Jeg o1 25 UFIRIG A HH a1 ST §, O Wud &1 foba- Ufa=id o agrar ST =iy difes oad Wi Xg?
Options :

1. % 66.66 Ufd2rd

2. % 37,5 Ufa=rd

3. ¢ 33.33 gfa=rd

4. % 16.66 Ufa2rd

Question Number : 49 Question Id : 753229453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A watch is purchased for Rs. 6000 and sold for Rs. 5500. What is the loss percentage?
Options :

1. ¥ 8.33 percent

2. % 11.11 percent

3. % 8.08 percent

4, % 7.28 percent

Question Number : 49 Question Id : 753229453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS ISt BT 6000 BT H TSI ST & 9UT 5500 TYY H 907 STl & | §1F Ufar=rd om g2
Options :

1. ¢ 8.33 Ufa=rd

2. % 11.11 gfa=d

3. % 8.08 Ufderd

4. % 728 yfawrd

Question Number : 50 Question Id : 753229454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifa:b=3:2, then what is the value of (3a + 2b) : (3a —2b)?
Options :

1.¥13:5

2. % 15:7

3.%22:9

4, % 23:10

Question Number : 50 Question Id : 753229454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a:b=3:2%,dl (3a+2b): (3a—2b) BT HF HTE?
Options :

1.¥13:5

2.% 15:7

3.%22:9

4. % 23:10

Question Number : 51 Question Id : 753229455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of income of Anil and Vikas is 8 : 5. If Vikas gets Rs. 3000 less than Anil, then what is the total income of Anil and Vikas?



Options :

1. % Rs. 8000
2. % Rs. 5000
3. #® Rs. 14000
4. ¥ Rs. 13000

Question Number : 51 Question Id : 753229455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT fIHT BT 3T BT U 8 : 5 7| Al fahr ®I 31 F 3000 UL HH UK B1d &, af A a7 [awr &t Hat 3md fra g2
Options :

1. % 8000 3T

2. % 5000 3YY

3. % 14000 9T

4. ¥ 13000 304

Question Number : 52 Question Id : 753229456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes Rs. 3600 in 5 years at the rate of 10 percent per annum on simple interest. What is the sum?
Options :

1. % Rs. 2000

2. % Rs. 1800

3. ¥ Rs. 2400

4. % Rs. 2800

Question Number : 52 Question Id : 753229456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MR YR 1T WR 10 Tfrwrd ufaas o1 ax T 5 98 # 3600 T 1 Sl g | AR AT 82

Options :



1. % 2000 3T
2. % 1800 3T

3.+ 2400 3UY
4. % 2800 3UY

Question Number : 53 Question Id : 753229457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a train is 60 km/hr and its length is 500 meters. What is the time taken by the train to cross a pole?
Options :

1. ¥ 30 seconds

2. % 36 seconds

3. % 24 seconds

4, % 18 seconds

Question Number : 53 Question Id : 753229457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YS! B 1M 60 T 7Y /eieT & TUT STPT TS 500 HieR B 1 YS! §RT U W &1 UR - H foram a1 g0y &1 82
Options :

1. ¥ 30 YDHUS

2. % 36 YDHUS

3. % 24 YhUg

4. % 13 YDHUS

Question Number : 54 Question Id : 753229458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K and L are at a distance of 228 km from each other at 7:45 a.m. After 60 minutes, K starts moving towards L at the speed of 36 km/hr. At 9:45
a.m. L starts moving towards K at the speed of 12 km/hr. At what time will they meet?

Options :
1. # 12:50 pm



2. % 1:45 pm
3. % 2:15 pm
4. % 2:35pm

Question Number : 54 Question Id : 753229458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K TUTL 7:45 Jdig TR U g ¥ 228 fobr. . 1 g R &1 60 T Ueq K, 36 fop M /Aer o1 A & L ®1 3R IaT IRY dRaT g1 9:45 JaTg
WL, 12 {5 M /Aer ot 1fd A K BT 3R IaT1 3RY BT 51 9 fbg gv foreae

Options :

1. % 12:50 RTa
2. % 1:45 AWz
3. % 2:15 W&
4. % 2:35 AWR(g

Question Number : 55 Question Id : 753229459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashu and Soniya can together do a work in 20 days. If Ashu works with four times of his efficiency and Soniya works with her half efficiency,
then the work gets completed in 12 days. In how many days can Ashu and Soniya respectively do the work alone?

Options :

1. ¥ 60 days, 30 days
2. # 15 days, 60 days
3. % 40 days, 60 days
4. ¥ 30 days, 60 days

Question Number : 55 Question Id : 753229459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AT FfT FehR U &1 &1 20 T T % Tohd & | Al ST YT IR THT &A1 S ST DRl § adT Q- SO 3eht &dr ¥ s
Bl 8, A B 12 T o IR1 81 11 © | HHRT: ST a1 AT 3ichal 1 &l fbaq 39 o 1 R I 82

Options :




1. ¢ 60 e, 30 faa
2. % 15fad, 60 T
3. % 40 A, 60 faA
4. % 30feA, 60 faA

Question Number : 56 Question Id : 753229460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven times of the area of a circle is 88 cm?. What is the radius of that circle?
Options :

1. # 3cm

2.% 2 cm

3. % 4cm

4. % 6cm

Question Number : 56 Question Id : 753229460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g & A% 1 Td 1 88 Q.12 §1 39 90 &1 sar s 82
Options :

1. %339
2. ¢ 29
3. % 49
4. % ¢

Question Number : 57 Question Id : 753229461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement is correct?
I. Radius of a sphere is 70 cm. Total surface area of this sphere is 61600 cm?.

II. Length of the diagonal of a rectangle is 104/13 cm. If the length of the rectangle is 30 cm.
then the area of this rectangle is 600 cm?’.
Options :
1. % Only I
2. % Only IT
3. % Both I and I
4. % Neither I nor II

Question Number : 57 Question Id : 753229461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafo@a & ¥ Fi9 1 Fu=7 gar 22

. T Fiter B Bsar 70 BAL B WS F FA TEHT &Fher 61600
T2 B
. T AT & @@t i dEre 10413 AL §) I 3mag Fr @ 30 A g oar
SH AT FT &9l 600 TH? &
Options :
1. % Had 1
2. % Had Il

3. 1dUT 11 Sl
4. % qIEIIATRIII

Question Number : 58 Question Id : 753229462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table given below shows the sales of different companies in different years.

Company it

bl | Y2 fik
A 100 180 200
B 120 160 300
C: 175 150 125
D g0 50 140
E 150 30 250
F 200 80 320

Which of the following statement is correct?
I. The average sale of company C per year is 150.
II. The ratio of the sale of company A in year Y2 to the sale of company A in Y3 are 9 : 10.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 58 Question Id : 753229462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el &1 715 arferept faftr ot & faftrer sufal 1 farspt &1 gl &

ey G

Y1 Y2 Y3
A 100 180 200
B 120 160 300
C 175 150 125
D 80 50 140
E 150 30 250
F 200 a0 320

fafeiRad 7 9 & 91 oy I8t 82



1. 9fd a9 U ¢ BT 3id et 150 B
1L 98 Y2 H HUAT A D1 fampt A BTy v3 H Hut A $i fafeh eurd 9: 10 81

Options :

1. % FHad |

2. % Had I

3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 59 Question Id : 753229463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the marked price and selling price of eight articles.

750 ol
700 — A
600 v
. 500 F\
/400 w400, [/ \ .
300 /' g —= e / e
¢ gr 200 /200 3
e w120 a4 300
200 ik

A B € D E F G H
—e—Marked Price —=Selling Price

What is the average of discount of per article?
Options :

1. % 24345

2. % 23552

3. % 242.65

4. v 231.25



Question Number : 59 Question Id : 753229463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e Y fort 311 aq et & siferd Yoo auT fasha geu &1 qiar |

250 800
700 st |
600 . 00 / ..;::;:3{]
400 tﬁ-i Uﬂ \ )
300 / o —% e \350
. f..*'”'f i \.x 2[“:. f,."f .
o 30 w120 4290 300
200 .

T T T ] T | 1 1
A B C€C D E F G H
- 3fFd AT =TT Ao
g 9% B¢ BT 3Hd 71 82

Options :

1. % 243.45
2. % 23552
3. % 242.65
4.9 231.25

Question Number : 60 Question Id : 753229464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the production of tea by two states in different year.



80
70
60
50 50
40
30 2
20
15
“ s lit
Y1 Y2 Y3 Y4 Y5 Y6
OS] mS2

J1 = The average production of tea by S2 per year
J2 = The sum of production of tea by S1 in all the years
What is the value of (J2 — J1)?

Options :
1. # 165
2.9 175
3. %185
4. % 195

Question Number : 60 Question Id : 753229464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 165
2.9 175
3. %185
4. % 195
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Question Number : 61 Question Id : 753229465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
A committee are to(1)/ be formed(2)/ of twenty-five barons (3)/.No error (4)

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Question Number : 61 Question Id : 753229465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
A committee are to(1)/ be formed(2)/ of twenty-five barons (3)/.No error (4)

Options :



1.¥1
2.% 2
3.%3
4. % 4

Question Number : 62 Question Id : 753229466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
The reality is that employees go (1)/ out of its way to avoid (2)/complaining to HR about harassment (3)/. No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 62 Question Id : 753229466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
The reality is that employees go (1)/ out of its way to avoid (2)/complaining to HR about harassment (3)/. No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 63 Question Id : 753229467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
The diver dives in the pool.




Options :

1. ¥ dives into
2. # dive in

3. # dive into

4. ¥ No improvement

Question Number : 63 Question Id : 753229467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
The diver dives in the pool.

Options :

1. ¥ dives into
2. # dive in
3. % dive into

4. ¥ No improvement

Question Number : 64 Question Id : 753229468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
He met her their. There was a bicycle stand near by.

Options :

1. ¥ there. There
2. % their. Their
3. # there. Their

4. % No improvement

Question Number : 64 Question Id : 753229468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
He met her their. There was a bicycle stand near by.

Options :

1. ¥ there. There
2. # their. Their
3. % there. Their

4. ¥ No improvement

Question Number : 65 Question Id : 753229469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The manager praised his subordinates for their energy at work.

Options :
1. # abate
2. ¥ robust
3. # slow

4. * sunken

Question Number : 65 Question Id : 753229469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The manager praised his subordinates for their energy at work.

Options :
1. # abate
2. ¥ robust
3. # slow

4. * sunken

Question Number : 66 Question Id : 753229470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Curbing carbon dioxide emissions has critical implications Emperor Penguins.

Options :
1. # off
2. % at
3. % of
4. ¢ for

Question Number : 66 Question Id : 753229470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Curbing carbon dioxide emissions has critical implications Emperor Penguins.

Options :
1. # off
2. % at
3. % of
4. ¢ for

Question Number : 67 Question Id : 753229471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

Several examples of

P: George Marshall’s The Blue Dahlia share the common

Q: story line of a war veteran who returns home to find that the
R: way of life for which he has been fighting no longer exists
S: film noir, such as Dmytryk’s Cornered or

Options :

1. ¥ PRSQ

2. % QSPR

3. % PQSR



4. v SPQR

Question Number : 67 Question Id : 753229471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

Several examples of

P: George Marshall’s The Blue Dahlia share the common

Q: story line of a war veteran who returns home to find that the
R: way of life for which he has been fighting no longer exists
S: film noir, such as Dmytryk’s Cornered or

Options :

1. ¥ PRSQ
2. % QSPR
3. * PQSR
4. ¥ SPQR

Question Number : 68 Question Id : 753229472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
P: the Romans borrowed and adapted

Q: from the Greek colonies of Italy

R: turn had borrowed and adapted it

S: the alphabet from the Etruscans, who in

Options :

1. ¥ PSRQ
2. % QPSR
3. * SQRP
4. % SPQR

Question Number : 68 Question Id : 753229472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Rearrange the parts of the sentence in the correct order.
P: the Romans borrowed and adapted

Q: from the Greek colonies of Italy

R: turn had borrowed and adapted it

S: the alphabet from the Etruscans, who in

Options :

1. ¥ PSRQ
2. % QPSR
3. % SQRP
4. % SPQR

Question Number : 69 Question Id : 753229473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Hunt

Options :

1. # Haste
2. # Pick
3. % Search
4. # Glance

Question Number : 69 Question Id : 753229473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Hunt

Options :

1. # Haste
2. # Pick
3. % Search
4. # Glance



Question Number : 70 Question Id : 753229474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Distort

Options :
1. % Accurate
2. % Beguile
3. % Slant
4. ¥ Wry

Question Number : 70 Question Id : 753229474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Distort

Options :
1. % Accurate
2. % Beguile
3. % Slant
4. ¥ Wry

Question Number : 71 Question Id : 753229475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Comited

2. ¥ Committed

3. % Commited

4. % Comitted



Question Number : 71 Question Id : 753229475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Comited

2. % Committed

3. % Commited

4. % Comitted

Question Number : 72 Question Id : 753229476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Immediate

2. % Emmediate

3. % Imediate

4. * Immidiate

Question Number : 72 Question Id : 753229476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Immediate

2. # Emmediate

3. % Imediate

4. % Immidiate

Question Number : 73 Question Id : 753229477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Ever and anon

Options :

1. ¥ Regularly and anonymously
2. % Now and then

3. # To venture secretly

4. % To talk to a stranger

Question Number : 73 Question Id : 753229477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Ever and anon

Options :

1. ¥ Regularly and anonymously
2. % Now and then

3. # To venture secretly

4. % To talk to a stranger

Question Number : 74 Question Id : 753229478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A big wig

Options :

1. % A bald person

2. % An important person

3. ¥ A pompous person

4. % To fake something

Question Number : 74 Question Id : 753229478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A big wig

Options :

1. # A bald person

2. % An important person

3. % A pompous person

4. # To fake something

Question Number : 75 Question Id : 753229479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A stroke of a bell, range slowly to indicate a death or a funeral

Options :
1. ¥ Knell
2. % Peal
3. % Call
4. # Chime

Question Number : 75 Question Id : 753229479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A stroke of a bell, range slowly to indicate a death or a funeral

Options :

1. ¥ Knell

2. #® Peal

3. % Call

4. * Chime

Sub-Section Number : 2
Sub-Section Id : 75322931



Question Shuffling Allowed : Yes

Question Id : 753229480 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of motor function resulting from the degeneration of
neurons in the area of the brain that controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his “Essay on the Shaking Palsy.” Various types of the
disorder are recognized, but the disease described by Parkinson, called Parkinson disease, is the most common form. Parkinson disease is also
called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism, meaning the disease has no identifiable cause. This distinguishes it
from secondary parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise from known or identifiable causes.
The onset of Parkinson disease typically occurs between the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes called “pill-rolling,” and slowly progresses over 10 to
20 years, resulting in paralysis, dementia, and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting muscles, particularly of the hands; muscular rigidity
of the arms, legs, and neck; difficulty in initiating movement (bradykinesia); and postural instability. A variety of other features may accompany
these characteristics, including a lack of facial expression (known as “masked face”), difficulty in swallowing or speaking, loss of balance, a
shuffling gait, depression, and dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the substantia nigra. These neurons normally produce the
neurotransmitter dopamine, which sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control patterns of
movement. Dopamine functions in the brain as an inhibitor of nerve impulses and is involved in suppressing the unintended movement. When
dopamine-producing (dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal signalling system is disrupted. In
both primary and secondary parkinsonism, the physiological effects of this deterioration do not manifest until roughly 60 to 80 percent of these
neurons are destroyed. So, it requires a careful supervision.

Sub questions

Question Number : 76 Question Id : 753229481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the given passage, when does the onset of Parkinson disease occur?
I. Between the ages of 60-70
II. Before the age of 40

Options :

1. % Only I

2. % Only II

3. % Both I and I



4. ® Neither I nor I

Question Number : 77 Question Id : 753229482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. # Difficulty in swallowing and speaking is one of the symptoms of this disease.
2. ¥ Dopamine functions in the brain as an exhibitor of nerve impulses.

3. # Parkinsonism results from the degeneration of neurons in the area of the brain.

4. ® Parkinson disease can be divided into primary as well as secondary Parkinsonism.

Question Number : 78 Question Id : 753229483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the synonym of the word ‘degenerate’ as per the context?
Options :

1. ¥ Retrospect

2. % Moral

3. # Improve

4. ¥ Debase

Question Number : 79 Question Id : 753229484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :

1. ¥ Cautionary

2. % Pessimistic

3. # Analytical

4. ® Sarcastic

Question Number : 80 Question Id : 753229485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is NOT answered by the given passage?
Options :

1. # What are the types of Parkinson disease?

2. % Which treatment is need to be followed for Parkinson disease?

3. % What is the role of dopamine in the brain?

4. ¥ How Parkinson disease got its name?

Question Id : 753229480 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Parkinsonism, a group of chronic neurological disorders characterized by progressive loss of motor function resulting from the degeneration of
neurons in the area of the brain that controls voluntary movement.

Parkinsonism was first described in 1817 by the British physician James Parkinson in his “Essay on the Shaking Palsy.” Various types of the
disorder are recognized, but the disease described by Parkinson, called Parkinson disease, is the most common form. Parkinson disease is also
called primary parkinsonism, paralysis agitans, or idiopathic parkinsonism, meaning the disease has no identifiable cause. This distinguishes it
from secondary parkinsonism, a group of disorders very similar in nature to Parkinson disease but that arise from known or identifiable causes.
The onset of Parkinson disease typically occurs between the ages of 60 and 70, although it can occur before the age of 40. It is rarely inherited.
Parkinson disease often begins with a slight tremor of the thumb and forefinger, sometimes called “pill-rolling,” and slowly progresses over 10 to
20 years, resulting in paralysis, dementia, and death.

All types of parkinsonism are characterized by four main signs, including tremors of resting muscles, particularly of the hands; muscular rigidity
of the arms, legs, and neck; difficulty in initiating movement (bradykinesia); and postural instability. A variety of other features may accompany
these characteristics, including a lack of facial expression (known as “masked face”), difficulty in swallowing or speaking, loss of balance, a
shuffling gait, depression, and dementia.

Parkinsonism results from the deterioration of neurons in the region of the brain called the substantia nigra. These neurons normally produce the
neurotransmitter dopamine, which sends signals to the basal ganglia, a mass of nerve fibres that helps to initiate and control patterns of
movement. Dopamine functions in the brain as an inhibitor of nerve impulses and is involved in suppressing the unintended movement. When
dopamine-producing (dopaminergic) neurons are damaged or destroyed, dopamine levels drop and the normal signalling system is disrupted. In
both primary and secondary parkinsonism, the physiological effects of this deterioration do not manifest until roughly 60 to 80 percent of these
neurons are destroyed. So, it requires a careful supervision.

Sub questions

Question Number : 76 Question Id : 753229481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As per the given passage, when does the onset of Parkinson disease occur?
I. Between the ages of 60-70
II. Before the age of 40

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 77 Question Id : 753229482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. # Difficulty in swallowing and speaking is one of the symptoms of this disease.
2. ¥ Dopamine functions in the brain as an exhibitor of nerve impulses.

3. # Parkinsonism results from the degeneration of neurons in the area of the brain.

4. ® Parkinson disease can be divided into primary as well as secondary Parkinsonism.

Question Number : 78 Question Id : 753229483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the synonym of the word ‘degenerate’ as per the context?
Options :

1. ® Retrospect

2. % Moral

3. ® Improve

4. ¥ Debase

Question Number : 79 Question Id : 753229484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?



Options :

1. ¥ Cautionary
2. # Pessimistic
3. # Analytical

4. % Sarcastic

Question Number : 80 Question Id : 753229485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is NOT answered by the given passage?
Options :

1. # What are the types of Parkinson disease?

2. % Which treatment is need to be followed for Parkinson disease?

3. % What is the role of dopamine in the brain?

4. ¥ How Parkinson disease got its name?
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Question Number : 81 Question Id : 753229486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYed = & Iuged HHaES (AN Slea fafau|
R[S Dl Hdl SGIG Bl IESIEEI
Options :

1. % g

2. % YR AT

3. ¥ B3l

4. % YIS

Question Number : 81 Question Id : 753229486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = & Iuged HHaES [ARv Seas fafau|
TS DI Hd SAGIG Dbl far fare |
Options :

1. ® Yg

2. % IR AR

3. ¥ Bl

4. % Ui




Question Number : 82 Question Id : 753229487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad aredl # @ grdaifie faivor 31d s
g o URig TR & gRI AT T 8

Options :
1. ¥ Yg
2. % %

3. % UG
4, % gRI

Question Number : 82 Question Id : 753229487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad areal § @ graaiie Ao 31 S|
Ig fo U R R & gRI ST T 8|
Options :

1.+ gg

2. % FH

3. % TR

4. % GRI

Question Number : 83 Question Id : 753229488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 7 s3] T ) TIH-dgd 1d BT
Options :

[. # HR-HUWR

2. % JR-gHRI

3. ¢ JAR-3IR

4. % JR-TIA




Question Number : 83 Question Id : 753229488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T 2} 1 TE TH- e 1 BT
Options :

[. #® HA-HWR

2. % HAX-gHRT

3. ¢ JaR-3(R

4. % ARG

Question Number : 84 Question Id : 753229489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TTU 916 T IS Teg BT 99 B Rad RIM DI el DI
ool 7 8§ 97 & BRI HRell

Options :
1. ¢ 3fdaH
2. % Hd
3. % Gfifdd
4. % fyoita

Question Number : 84 Question Id : 753229489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT TTQ aTeRr H IUYed Rec BT T DHRab Rkl VI &1 Yfed DI
o Tl § I & BRI I8 R

Options :

1. ¢ 3rEdq

2. % Td
3. % Siifdd




4. % foifg

Question Number : 85 Question Id : 753229490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad areai=r & fore 3fed Tsg &1 9g- Hifog|
TR I8 BT U= & I g

Options :

1. ¥ YR

2. % Ry

3. % gfgHM

4. % Tl

Question Number : 85 Question Id : 753229490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafafad areaiw & fou I Weg &1 I S|
TR I8 S U= & A |

Options :

1. ¢ TR
2. % ggdr
3. % gfgHM
4. % AT

Question Number : 86 Question Id : 753229491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferg 71T Treg; g 7 e WWeq I 1A BT
3R - 3R

Options :

1. % TpTaT : 3Yd



2. % 3qd : Wawl
3. ¥ DTl WGl
4. % QTGS : IRl

Question Number : 86 Question Id : 753229491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Yo g 1 el Wsg i 1T BT
3R : SR

Options :

1. % PTal: 3qd

2. % 34d : Wawd

3. % DIl . 9T g3l
4. % 13T : TRl

Question Number : 87 Question Id : 753229492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferw TTe 2reg g 7 e Weq T 1A BT
3T - T

Options :

1. % 3J0d : fafea

2. % Uq . fafea

3.% g 09

4. ¢ fafeq . sread

Question Number : 87 Question Id : 753229492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77T g T o1 Ta! e T J1d BT
SHAId :



Options :

1. % 31q : fafea

2. % U9 fafeq

3. % Jd .09

4. fafed . srouad

Question Number : 88 Question Id : 753229493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 71T a1 T et Jd BT
gt T B

Options :

1. ¢ gg

2. % 3quf gg

3. % gUi g

4. % fgd™HS vef

Question Number : 88 Question Id : 753229493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT TQ 919 1 Ue J1d PN |
gt M |

Options :

1.« g g

2. % 37Ul Ug

3. % quiggf

4. % RIS Uaf

Question Number : 89 Question Id : 753229494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferfad arel § 9 Ty ared 319 Sifv|
Options :

1. ¢ SR g1  foermerg ugdn, ©¢ a1 gt 2|
2. % T fagrerg ugan wiq 9t oot gt At

3. % IR fIgTay ugen ¥ ugd Ut a1 gt A
4. % T fogerd ugn oIk °9t oot gavt ot

Question Number : 89 Question Id : 753229494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferiad aret & § et o Fd Siforg|
Options :

1. ¢ S g § foanerg ugan, 9 a1 gat ot
2. % T fqeerg ugan i °et ot gt |

3. % IR foeTerg ugan ¥ Ugd 9l o gt A
4. % T fagrey ugn 3R 9t 9t gt |

Question Number : 90 Question Id : 753229495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafRad are o § TR ared Jd Fifo |
Options :

1. ¢ g8 ol ST &9 B T B

2. % g facell T 3R BT SR T

3. % 9 98 faeah ugan 8fR & & @l
4. % S g1 98 fcai ugan, 98 B B

Question Number : 90 Question Id : 753229495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffad el # @ 9Rd areg 31 S|



Options :

1. ¢ g faedl! STeR &1 &R T g

2. % gg feeah T 3R HTH B I

3. % 39 98 facelt ugan 3R HTH - |
4. % 39 g1 98 faoah Ugdl, 98 HIH HRA AT

Question Number : 91 Question Id : 753229496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T e DT Igd= AT HIfTT|
et

Options :

1. % dgfa
2. % iy
3. % diuadig
4. ¢ Safaar

Question Number : 91 Question Id : 753229496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T Xeq DT Igd=- AT DIfTT|
e

Options :

1. % ggfa
2. % iy
3. % diadig
4. ¢ sfofaar

Question Number : 92 Question Id : 753229497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feu U gty # Ty forme g &1 SUaiT fohan S S9! ugad Sifog|
IRIRCGRINS

Options :

1, % 9

2. % ()

3.% -

4.9 |

Question Number : 92 Question Id : 753229497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U gt | Ty forme g &1 SuaiT fohan S S9! ugad Sifvg|
T Qo §

Options :

1. %9

2.% ()

3.% -

4.9 |

Question Number : 93 Question Id : 753229498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e a1 | g formm g &1 IuaiT fosan Swen S9! UgdaH ifoig|
I I 3R IR gH T

Options :
1. % ,?
2. % ;|

3.¢
4, %

9

Question Number : 93 Question Id : 753229498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fou e a1 | forg fovmm g &1 Iua fosan S S9! Ug<aH oifoig|
R X1 3R 915 g7 77U

Options :

1. % 2

2. % |
3.¢ |

4. ®

Question Number : 94 Question Id : 753229499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U aR fawedl & 9§, 39 fadmen &1 997 & S fou T8 geTark & 31 ol Ya9% U § oJad Rl g |
3O i AT 3UA IS 36T

Options :

1. % U gH=ar o 9g g

2. % RA O g

3. % JRI & HH-UR & ST

4. ¢ &4 91d &I =T T B

Question Number : 94 Question Id : 753229499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoafad oy & fou 10 aR fawedl § 9, 39 fawed &1 999 & o fou 0 Gk & 31 o) a9y 9 ¥ ogad Rl g
U i G U+ i 3

Options :

1. % 3O gHar d Ag g

2. % SR U7 g

3. % AR & HTH-UR &AM &1

4. ¢ {1 91d DI w1 7 B




Question Number : 95 Question Id : 753229500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁaﬁ@au&ﬁ,ﬁwmﬁﬁﬁ@r,wf&wwqudﬁa‘fﬁqwﬂeﬂ%$a{ﬁaﬁﬂa‘%eﬁuﬁwm HRAT g
MS PTRI

Options :

1. Yl

2. % SRR JHLAAT

3. # {d-p & JHIAT

4. % fRIRI Al

Question Number : 95 Question Id : 753229500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁuﬁ@au&ﬁ,ﬁwmﬁmﬁﬁ@r,wi&mwwwﬂ H< ol 3T T GeTak & 31 B YI9F U 4 ad Sl 8 |
S PTYI

Options :

1. I

2. % AR JHL]AT

3. % {d-p & JHAT

4. % ToRT=T S

Sub-Section Number : 2
Sub-Section Id : 75322933
Question Shuffling Allowed : Yes

Question Id : 753229501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

TS TSI T 71 § | TR o TR WR Uid U fau 7 § | TR &1 gdes Ue a1 A Uy H IR fawmed § § UE fadwen g |

YRA H $H-SH 10 BT H 3 TRPRT AR TR-TRHR] GITHT BTN 3| HRA H HiAD] & Hedrvl-Srd  GrIfRd Hia1 ol fdebry fgeta
{3y g5 & ST G U113 THR H HoheTdll YTt - b1 He@YUl A8 & | 4H P §H (U Sliad § SHd1-3-3at S I D1 I R Yebd
B TR &Y &1 § 3fc: TgT HH B3 51 g1 TadhT ¢ g | fpft o1 & quparar ait frercht @ o/a g9 ufkerd #va 81 4/ €Y Sffe &1 7ifd ueH




HRAT G| Tict I YS! HET SIdl ¢ | PR H BTH B arel D! & ST, 3! YR&M R Wy dddt faftra ugqsit o Fafd
B BT TG WBR 30 SHWR dAdht ¢ | WaAdT U & J1e e e &) 1fd UeH &1 & ot YR IWRER 3 sRE fafaH,
1948 fauTied fara | eI oo & T § S &t IR0 U9 Sfifre waw fafis faaRurst @1 yadre] Suds § | $© AN -
HIU BT Bl BRG] &b id fPT S T ST dob T Id1d g1 3 e 7, 87 YH-51l & S=vid 4P & sSifgd, RIS,
Afae 3R 3ftfes Iafa & for favu 77w foned) +ff 1 o TfEIford v ! wnufierar S € | SH-Searur T aray fagmm Sienfiies gormedt qur
3Ot il § ISR BT GRM3MT BT I B3 & forg Hiferdh! gRT fhd S aret s Tl 4 § | 98-FH 10l Bl BT UIROMH I8 Bidl o
P 30 yip! H ITReRAG DI HIa-T &1 [ABM BT 81 S99 3 Bl A favy 3 ad B

Sub questions

Question Number : 96 Question Id : 753229502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H 43l & HeUIv-rd Y FraId HIaH B faebrg Bel gai U1
Options :

1. ¢ fgdra fay g & a1

2. % GUATIY g &H 91

3. % fgdafay g A U

4. % gyH {9y gg 9 Ugd

Question Number : 97 Question Id : 753229503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & T adT U HR- BT HedqU! qre 31 g2
Options :

1. % 3afd

2. 44

3. % fdaRYRT

4. % orf

Question Number : 98 Question Id : 753229504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 1 1 T ST 82



Options :

1. ¢ Yool

2. % fagHM

3. % Ufesd TN
4. % Afqpd

Question Number : 99 Question Id : 753229505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Wl o 16 fobgds fasry o ferg sifefgw uifa fosan ur
Options :

1. % difgd

2. % 3

3. ¢ NS

4. % JASATR

Question Number : 100 Question Id : 753229506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sudad T BT IUgad NS FT gRTT?
Options :

1. % 4 Y G AY DI S0l

2. % T Y gl YRE&M

3. % ASAIR Bl GRS BT I

4. Y7 HH &F

Question Id : 753229501 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
TS T T T | IR O STYR WR Ui Uy T 7Y € | I &1 e9Ydd U aul s Uy H 9R fawedl § 9 98l faswed |
HRA H HH-H T BT A 3 TRPRT 3R TR-IRBRT TRITSH BT AN g1 HRd H 4Hh! & Searu.ord I Jrafid Hig &1 faer fgdia




fa% g o STa g3 T IS/ TR H Jheldl YT D BT HgdqUl 1L 5 | 9H Db GH U Sita H $Hd1-J-32! SHTHIR DT I B Febdl
¢ IR $H &7 § 3fch: T8I HH BT o] 6 TaH! YH ¢ | fodlt Hrd & Iohaar aft firercd ¢ 51 89 URYE 3 ¢ | 99 81 Sita &I 71 UgH
Tl & | A B Yol HeT ST ¢ | RG] § B d- aTd D! & HedTur, ! YRET 3R Wy gath fafts uggs &1 afia
B BT SIRIE WBR 30 SHWR Adh ¢ | WaAdT Ut P J1e e e o) 1fd UeH &1 & oIt HRd IRBR 3 dREHT g,
1948 HfauTied fara| e Heamor & T § S &t IR0 U9 Sfifre waw fafts faaRerst @1 sadme] Suds § | $© aNT 4H-
H BT B HRAMI D SId [hT S T BT dh G T & | U= G H, §H 4H-HA1 o Savid HiHD! & Sifad, AR,
A iR ofdfe Fafd & fore fopw T7u fonelt off o 1 wfthiferd F= &1 UTfiesar <d € | 98-S eaTuT 3 areqd fa=rae Siefies ormett aut
3TN Tfaedl & ISR Bt G2 HT IdAd H & foIe Hiferen! gRT o A aral Yfeses Tl § § | 9H-s ool Bl &1 UM I8 gidl 8
fh ST 4 § IARaIRa Bt HIaHT &1 f[adhr BiaT 3| 399 d Hraf A oy ¥y ad |

Sub questions

Question Number : 96 Question Id : 753229502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA § 4D & HT-H W TERIT UG DT (96T Ha g3 U2
Options :

1. ¢ fgdia fay g & a1

2. % Uy {9y gg & 9T

3. % fgda fay g Y uga

4. % gyw fdy gg 9 ugd

Question Number : 97 Question Id : 753229503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T e YTt &R BT Hg<aqul T1e o1 g2
Options :

1. % afd

2.9 YH

3. % foaRYRT

4.% g

Question Number : 98 Question Id : 753229504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
et BT FT HET oIl 62

Options :

1. ¢ yidl

2. ® faemmE

3. % Ul oy

4. % fcraan

Question Number : 99 Question Id : 753229505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IS o d1G fobeds fashr o ferg sifef=gw urivd fosam ur
Options :

1. % Sifg®

2. % e

3. ¢ SRNfTS

4. % AR

Question Number : 100 Question Id : 753229506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sudad TR 1 IUged X a1 grT?
Options :

1. % oA Y G Y B HeAIUl

2. % 9T gl YREM

3. % JSHIR 1 GRITSHT BT JeAd

4. ¢ Y. HH &

Disciplinel
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Question Number : 101 Question Id : 753229507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
emerged as the centre of machine production during mid 1830’s.

Options :

1. * Saxony
2. ¥ Berlin

3. * Rhineland

4. % Silesia
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Question Number : 101 Question Id : 753229507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1830 AT T TR IdGT & g & =0 T U
Options :

1. % SR

2. ¢ §feA

3. % EAAS

4. % T

Question Number : 102 Question Id : 753229508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five Year Plan was passed in 1961.

Options :

1. % Third

2. % Second

3. % First

4. # Fourth

Question Number : 102 Question Id : 753229508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

~ Uaqylg gioET 1961 H OTRG B TS Y |
Options :

1. ¢ AR

2. % GIRI

3. % Yy

4. % AR}



Question Number : 103 Question Id : 753229509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the First Five Year Plan?
L. It was based on Harrod-Domar Model.

II. The plan focused on Agriculture.

III. It began in 1950.

Options :

1. % Only I
2. % Tand II
3. % Il and III
4. % Jand III

Question Number : 103 Question Id : 753229509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o 91 HUF uge UuH UHaf e & e 7 98l |2
L. U8 8RS - SR ATSd TR TR oT|

1. ST HY R BT R

1. 3! J[H3AT 1950 F g8 T |

Options :

1. % ad [
2. 1dUT I
3. % I dUTIII
4, % 14T I

Question Number : 104 Question Id : 753229510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who served as the minister of finance in France for Louis XVI?
Options :

1. ¥ Jacques Necker

2. % Anne Turgot



3. # Camillo Benso

4. % Maximilian

Question Number : 104 Question Id : 753229510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ts X VI & forg i H T foa 13 & =0 o & fsam
Options :

1. ¢ S AaR

2. % U

3. % BT ol

4. % Dagihfead

Question Number : 105 Question Id : 753229511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the late 18th century, France provided financial support to the rebel colonists in the
Options :

1. ¥ American War of Independence

2. # France-Prussian War

3. % War of Britain

4. ¥ Trans-Atlantic War

Question Number : 105 Question Id : 753229511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

183 RIdTedl & ofd H, i A ¥ fasiel SuMaRanedl 1 foia wgrad e &1 |
Options :

1. ¢ 3{AR®! gg WaAdl

2. % HIN STHF g

3. % facA d1 g



4. % TY-3fCdiicd gg

Question Number : 106 Question Id : 753229512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 1804 Napoleonic Code included which of the following codes?
L. Civil code
II. Code of criminal procedure

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 106 Question Id : 753229512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1804 AU rs B AAfad ¥ 3 o A1 ors =miHd U1
I. ATTRe i

I1. 3TORT Ufshan wfgdr

Options :

1. ¥ Had 1

2. % Bhad Il

3. % [qUT I Ml

4. % AIGIATEII

Question Number : 107 Question Id : 753229513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, did King Louis XVI announce that he would convoke the Estates Generals?
Options :

1. * 1782



2. % 1783
3. % 1787
4.+ 1788

Question Number : 107 Question Id : 753229513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhT e X VI [y au & Ig aivon &1 &ff foh 98 e ey SRl &l FHIYM He
Options :

1. % 1782

2. % 1783

3. % 1787

4.+ 1788

Question Number : 108 Question Id : 753229514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the condition of France before the French revolution?
I. It was financially unstable.

II. It has resistance from the third state.

III. It was agrarian surplus.

Options :

1. ® Only I
2. % Il and I
3.% Tand II
4. % Jand III

Question Number : 108 Question Id : 753229514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THIRIT i T Ugd Wid & dg & Fafied § 4 &9 91 H3- 981 52
1. 98 Sfiies &0 SRR 1|




1. BT IR T I UfaRiy o
111. I8 T =Y 7|

Options :

1. % a1
2. ® 11 dUT I
3.4 14T
4, % 1dYTIII

Question Number : 109 Question Id : 753229515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who amongst the following was NOT part of the revolt of 1857?
Options :

1. % Begum Hazrat Mahal

2. # Rani Lakshmibai

3. # Nana Saheb

4. ¥ Maharani Gayatri Devi

Question Number : 109 Question Id : 753229515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofifed & ¥ 3 1857 & fasie &1 g et am
Options :

1. ® STH §oRd Hgd

2. % I+ AgaTs

3. % A9 dlgd

4, ¥ HAER MGAT &t

Question Number : 110 Question Id : 753229516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which year, did the 47th regiment of Sepoys refuse to go to Burma from India?
Options :

1. % 1814

2.9 1824

3. % 1834

4, % 1844

Question Number : 110 Question Id : 753229516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg quf o 47d Yo & Ryurfedl 7 URd O F61 S o forg 71 o feam um
Options :

1. # 1814

2. ¥ 1824

3. % 1834

4. % 1844

Question Number : 111 Question Id : 753229517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Extremist leader is also known as Lokmanya?
Options :

1. # Lala Lajpat Rai

2. ¥ Bal Gangadhar Tilak

3. # Bipin Chandra Pal

4. % Bhagat Singh

Question Number : 111 Question Id : 753229517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frg oAU Ad1 B A & W I i ST ST 82
Options :




1. % QT SrSlud I
2. ¢ 91 TeR fadd
3. % foftq dg ura

4. % Yiq &g

Question Number : 112 Question Id : 753229518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reforms were announced in India at the end of 1919.
Options :

1. # Morley-Minto

2. % Wavell

3. % Curzon

4. ¥ Montague-Chelmsford

Question Number : 112 Question Id : 753229518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1919F FATURTH  FYR ! GIom 1 718 A
Options :

1. % TTc-fHer

2. % dad

3. % FHoH

4. HI-AHBIS

Question Number : 113 Question Id : 753229519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Commission investigated the Jallianwala Bagh massacre.
Options :
1. % Morley



2. * Simon
3. ¥ Hunter
4. % Crawford

Question Number : 113 Question Id : 753229519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST A S erAtaTel ST gThi B Sid o1 |
Options :
1. % Oid
2. % {IHA
3. ¥ B8R
4. % Blbs

Question Number : 114 Question Id : 753229520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following leaders was NOT a part of the Anti-Partition Movement in 1905 in Bengal?
Options :

1. % Prithwishchandra Ray

2. # Krishna Kumar Mitra

3. # Surendra Nath Banerjee

4. ¥ Annie Besant

Question Number : 114 Question Id : 753229520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sma H 1905 H faurei faRieht stigram &1 few Fafafad § @ o4 91 3a1 s9e1 te few a8t ur

Options :
1. % QAIREg A
2. % HUIHUR i




3. % G 1§01
4. ¢ T 9dC

Question Number : 115 Question Id : 753229521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did Kheda Satyagraha occur?
Options :

1. % 1919

2.9 1918

3. % 1920

4. % 1921

Question Number : 115 Question Id : 753229521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WS TG Hd §3HT UT?

Options :

1. % 1919

2.9 1918

3. % 1920

4. % 1921

Question Number : 116 Question Id : 753229522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the first major assault on the Russian Autocracy was done by the revolutionists?
Options :

1. * 1903

2. ¥ 1905

3. ¥ 1907

4. % 1909



Question Number : 116 Question Id : 753229522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIfABING] gRT T Thda IR Ugdl 951 g9l fog ay & fasan mar U
Options :

1. % 1903

2. ¢ 1905

3. % 1907

4. % 1909

Question Number : 117 Question Id : 753229523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of the Russian revolution, the capitalist farmers are also known as
Options :

1. # Petras

2. ¥ Kulaks

3. % Shudras

4. % Nazdas

Question Number : 117 Question Id : 753229523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 wifd & Jeu & gollardl feaiet . dweud ST Smarg|
Options :

1. % UCrY

2. ¥ pdlRd

3. ¥ Yo

4. % Al




Question Number : 118 Question Id : 753229524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first volume of Karl Marx’s Das Kapital was published in Russian in
Options :

1. ¥ 1870

2. % 1872

3. % 1873

4. % 1874

Question Number : 118 Question Id : 753229524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PHTd A B SN HiUcd HI Ugal I &t d o TR fasar T o)
Options :

1. ¥ 1870

2. % 1872

3. % 1873

4, % 1874

Question Number : 119 Question Id : 753229525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Russian working class movement was in turn against
I. Autocracy
II. Arifmocracy

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II



Question Number : 119 Question Id : 753229525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E ! AIGR 7 b SiIa CACRICAIN
[. UbdA

I1. HER Abaa

Options :

1. v Bad [

2. % had II

3. % [T G

4. % GG

Question Number : 120 Question Id : 753229526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1917, Lenin arrived in Russia from Finland and issued the in which he set fourth the new slogan “All power to the Soviets”.
Options :

1. # June thesis

2. * July thesis

3. % April thesis

4. % May thesis

Question Number : 120 Question Id : 753229526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S difg

2. % Jars dikM

3. ¢ 3 R

4. % O3 R
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Question Number : 121 Question Id : 753229527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the first revolution that was based on socialist ideals.
Options :

1. # French revolution



2. % Russian revolution
3. # American revolution

4. ¥ Hungarian revolution

Question Number : 121 Question Id : 753229527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl oifdl § O SHTSaTg] el uR et ot |
Options :

1. % bl shifd

2. &I pifd

3. % ARSI hifd

4. % GORG shifd

Question Number : 122 Question Id : 753229528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the father of the liberal view of society?
Options :

1. % John Locke

2. # David Ricardo

3. # Alfred Marshall

4. ¥ Adam Smith

Question Number : 122 Question Id : 753229528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT & IERAIG! EBPIU & TD DI U 2
Options :

1. ¢ S dlh

2. % Sfqe Raprst




3. % 3[Ahs HIRIA
4. % TSH Y

Question Number : 123 Question Id : 753229529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who analysed the society into the idle proprietors and the working industrialists?
Options :

1. # William Thompson

2. % Henri de Saint-Simon

3. # King Gillette

4. # Vaso Pelagi¢

Question Number : 123 Question Id : 753229529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g wifere! 3R BB SeUfaal § THS o fagadyor ferga feam
Options :

1. % faferqm yreoe

2. ¢ BRI St He-argHH

3. % fobi1 et

4. % R Uetfoleh

Question Number : 124 Question Id : 753229530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Ideology, Democracy is described as a decaying corpse?
Options :

1. # Libertarianism

2. % Mutualism

3. % Environmentalism



4. « Fascism

Question Number : 124 Question Id : 753229530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for g foaRYURT &, Adhda DI TP SIhRIT SR & U & afvid fovar T g2
Options :

1. ® 3aRdlg

2. % URUWR® 3154 &1 Ry

3. % qgfeRUETg

4. ¢ BRIECIG

Question Number : 125 Question Id : 753229531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of the Fascism, which of the following statements is correct?
L. It is a radical movement based on the rejection of liberalism, democracy, and Marxist socialism ideology.
II. The fascists fully supported the previous form of government in Italy.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 125 Question Id : 753229531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

writare & deH & Fufeiad 7 @ &9 1 Hy= 98t 32
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Options :

1. ¢ BHad |




2. % Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Question Number : 126 Question Id : 753229532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘fourteen Point program’ was proposed by
Options :

1. * Edward Grey

2. # Herbert Asquith

3. % Woodrow Wilson

4. % David Lloyd

Question Number : 126 Question Id : 753229532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ag P PRHH _ gRIUdIad fhar mn o |
Options :

1. % TSds U

2. % gac URpY

3. ¢ gl faw

4. % Sfds darrg

Question Number : 127 Question Id : 753229533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The beginning of environmental action by the UN itself (not other autonomous agencies) started in
Options :

1. % 1945

2. % 1946



3. ¥ 1947
4. % 1948

Question Number : 127 Question Id : 753229533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Y R (30 W Tl gl Tafarul IR HRATS DI YRS dgEgs ot
Options :

1. % 1945

2. % 1946

3.9 1947

4. % 1948

Question Number : 128 Question Id : 753229534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following World War II Alliance is correct?
I. Britain, France, Soviet Union, USA
II. Germany, Italy, and Japan

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 128 Question Id : 753229534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faca fay g &1 FafaRaa & 4 1 91 e ol 62
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Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 129 Question Id : 753229535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bolshevik Government signed the Brest-Litovsk Treaty in March 1918 with and opted out of the war.
Options :

1. # Britain

2. % Germany

3. % Austria

4. % France

Question Number : 129 Question Id : 753229535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS WRHR A A 1918 & 1Y SRe-freaud Wil IR g¥d1eR T 3R g5 ¥ Sex 81 U
Options :

1. % fgcq

2. & STHAT

3. % 3fffeean

4. % BpiIg

Question Number : 130 Question Id : 753229536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Article of the United Nations aims at higher standards of living?
Options :

1. # Article 14



2. % Article 21
3. # Article 43
4. % Article 55

Question Number : 130 Question Id : 753229536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tgad Y & e Srade B I5R I SiaH WR 8 2
Options :

1. % 396 14

2. % 3G 21

3. % 3G 43

4.« TG 55

Question Number : 131 Question Id : 753229537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The discontinuity present in earth’s interior between lower mantle and outer core is called
Options :

1. % Repetti discontinuity

2. ¥ Guttenberg discontinuity

3. ¥ Mohorovicc discontinuity

4. % Lehmann discontinuity

Question Number : 131 Question Id : 753229537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

72 & HieR THad Hed dUT SRl s & did URdd Sriac &l HEI o g |
Options :

1. % Ruch sriad

2. ¢ T[S JTA




3. % MgAfdP Fidd
4. % QgA IId

Question Number : 132 Question Id : 753229538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following igneous rocks is of mushroom shape?
Options :

1. ¥ Laccoliths

2. # Lopoliths

3. % Dykes

4. % Batholiths

Question Number : 132 Question Id : 753229538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & § & I Mg 98 AREH & 3HR $I 8T 82
Options :

1. ¢ Ipifered

2. % ey

3. % SIedh

4. % qYifered

Question Number : 133 Question Id : 753229539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Steep rock coast rising almost vertically above sea water is called
I. Sea cliff
II. Barrier island

Options :
1. ¥ Only I
2. % Only II



3. ® BothIand II
4. % Neither [ nor 11

Question Number : 133 Question Id : 753229539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Od & SHUR T S MR 38 §U Hd Aei1g del &l HET ST |

L gt 4]
1. SRR gy

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % AT I

Question Number : 134 Question Id : 753229540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a component of a fault in the crustal rocks?
Options :

1. # Hanging wall

2. # Fault dip

3. #® Foot wall

4. % Anticlinal axis

Question Number : 134 Question Id : 753229540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed & @ ®1F ped agHl § T SN & ued T8 82
Options :

1. % Yol fgaR

2. ® i f&u




3. % G dld
4. ¢ Uelfaa-d Uiy

Question Number : 135 Question Id : 753229541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the continental drift theory of Wegner?
I. This theory begins from Pre-carboniferous period.
II. The main aim of the theory was to explain major climatic changes in the geological history of the earth.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 135 Question Id : 753229541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. ¢ HAd Il
3. % [ QYT ISl
4. % qEIIATE I

Question Number : 136 Question Id : 753229542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tropical cyclones in Japan are called



Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Hurricane

2. Taifu

3. Baguio

4. Typhoon

Question Number : 136 Question Id : 753229542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S § IWisfeseia aehardi &l EISIGIG]
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. gobT

2. TRH

3. ARSI

4. TG

Question Number : 137 Question Id : 753229543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of change of temperature of ascending or descending air is called
Options :

1. # Positive lapse rate

2. ® Zero lapse rate

3. % Adiabatic lapse rate

4. ¥ Normal lapse rate



Question Number : 137 Question Id : 753229543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS T 3R g & YA S URIH B FHeISral gl
Options :

1. #® YqIHD g aX

2. % FATAR

3. ¥ BGIH BRI X

4. % HY gl &X

Question Number : 138 Question Id : 753229544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a warm ocean current?
I. Peru current
II. El Nino current

Options :

1. % Only I

2. ¢ Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 138 Question Id : 753229544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & § oF T AT 4RI 82
L U= YRT

I T =1 &RT

Options :

1. ® Hadl
2. ¥ Had Il



3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 139 Question Id : 753229545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most abundant gas in the atmosphere?
Options :

1. ¥ Nitrogen

2. % Methane

3. % Oxygen

4. # Carbon dioxide

Question Number : 139 Question Id : 753229545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIGHUST B Taifie [T H UTs S arel 19 B9 91 82
Options :

1. ¢ AgCIeH

2. % g

3. % i

4. % PHla SLIHAZS

Question Number : 140 Question Id : 753229546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors affect the distribution of insolation?
I. Angle of the Sun’s rays

II. Length of day

III. Sunspots

Options :
1. * Only I



2. % Jand Il
3. % [land I
4.+ 1,11 and III

Question Number : 140 Question Id : 753229546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ad [

2. % 14T
3.% I AT
4, 1, 11 dYTIII
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Question Number : 141 Question Id : 753229547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Griffith Taylor’s scale of discomfort was divided into six categories. The 55 degree Fahrenheit — 60 degree Fahrenheit represents
Options :

1. # usually uncomfortable

2. % often uncomfortable

3. # ideal condition

4. ¥ very rarely uncomfortable

Question Number : 141 Question Id : 753229547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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|

Options :

1. % IR | TS

2. % 3fRR 3T

3. % 3exf fyfa

4. ¢ 9gd 9Red ¥ SRfqUSHD




Question Number : 142 Question Id : 753229548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs of ‘River — Outflow’ is correct?
I. Nile River — Mediterranean Sea

II. Amazon River — Atlantic Ocean

II1. Indus — Bay of Bengal

Options :

1. * Only I
2. ¥ Tand II
3. % Iland III
4. % Only II

Question Number : 142 Question Id : 753229548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

+Tel - afgafe’ &1 FafiRed & 9 oF a1 gm a8t 32
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Options :

1. % dad III

2.9 1dYTII

3. % I dUTIII

4. % PHad I

Question Number : 143 Question Id : 753229549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the latitudinal distribution of salinity in the oceans?

I. The highest salinity is recorded in the equatorial regions.
II. The salinity of the oceans of the northern hemisphere is higher than that of the southern hemisphere.



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 143 Question Id : 753229549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. % [ UGl
4. GBI

Question Number : 144 Question Id : 753229550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kosi river is the tributary of which of the following rivers?
Options :

1. # Narmada

2. % Brahmaputra

3. % Indus

4. ¥ Ganga

Question Number : 144 Question Id : 753229550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIA 4! Fafafed & 9 feaes! Jeas 14 82



Options :
1. % e
2. % §glyd
3. % iy
4. ¥ T

Question Number : 145 Question Id : 753229551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Archaean rocks cover two-thirds of Peninsular India. Which of the following is a type of Archaean rock?
I. The Bengal Gneiss
II. The Nilgiri Gneiss

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 145 Question Id : 753229551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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I. STt
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Options :

1. % Had I

2. % Had I

3. ¢ 1Y I g

4. % A IAIE 1

Question Number : 146 Question Id : 753229552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In India, the season of North-East Monsoon comprises
I. Hot weather season
II. Rainy season

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 146 Question Id : 753229552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ $Had |

2. % Had Il

3. % [ QYT gHl
4. % I I

Question Number : 147 Question Id : 753229553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following passes connects Uttarakhand to Tibet?
I. Muling La pass

II. Mangsha Dhura pass

III. Lipulekh pass

Options :

1. % Iand II

2. % Il and III
3.9 [, Il and III



4. % Only III

Question Number : 147 Question Id : 753229553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® IdYT 10

2. % 1 dYUT I
3.9 [ 1T dYUT I
4, % Had I1I

Question Number : 148 Question Id : 753229554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the 2011 census, which is the most populous state in India?
Options :

1. # Madhya Pradesh

2. % Andhra Pradesh

3. % Uttar Pradesh

4. % Mabharashtra

Question Number : 148 Question Id : 753229554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g U
2. % JY U




3. ¢ IR UK
4. % HERIY

Question Number : 149 Question Id : 753229555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Various types of population densities are calculated for specific purposes. Nutritional density is expressed as
Options :

1. # Agricultural population/ Total cultivated area

2. ¥ Total population/Total cultivated area

3. # Total rural population/ Total barren land

4. % Total urban population/ Total barren land

Question Number : 149 Question Id : 753229555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SN STES/Hd Wal A Y

2. ¢ Pd SIS/ G A Wl A YA

3. % o] Y01 SHIST/Hd soR i

4. % o T SMETEH/Hd SoR HH

Question Number : 150 Question Id : 753229556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Human Development Index (HDI) is a composite of three basic components of human development. Which of the following is NOT that
component?

I. Standard of living

II. Knowledge

Options :

1. % Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 150 Question Id : 753229556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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L. Sila &R

1. I

Options :

1. % dhad |

2. % Had I

3. % [ QYT

4. IAE I

Question Number : 151 Question Id : 753229557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an iron and steel producing region in India?
Options :

1. # Bhilai

2. % Durgapur

3. ¥ Rourkela

4, ¥ Kanpur

Question Number : 151 Question Id : 753229557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad & ¥ o URd A <igT 3R 33T IAGH & T8l 82

Options :

1. ® fyars




2. % GR
3. % JIpAl

4. ¥ HHER

Question Number : 152 Question Id : 753229558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Weber’s model of industrial location, in which of the following conditions the appropriate location of industry will be near the
localized raw material sources?

L. If an industry has a material index greater than one.

II. If an industry has a material index equal to zero.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 152 Question Id : 753229558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR F M rafufd disa & R, Fufeied & 3 forg fRufy & I &1 Iuged R RIFHT $= 71d & Jidl & Hdbe g
1. g ot I &1 Hifds Tadie U 9 S g
11. I ot IE &1 Hifdd qaHH YA & SRR 5 |

Options :

1. Had |

2. % Had II

3. % [ QYT
4. % qEIIATR I

Question Number : 153 Question Id : 753229559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which country is the largest producer of barley in the world?
Options :

1. ¥ Russia

2. ® France

3. % Germany

4. % Australia

Question Number : 153 Question Id : 753229559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sy o S T Te §ST IUTEH < B T ]2
Options :

1. ¥4

2. % B

3. % ST

4. % Sfiefern

~

Question Number : 154 Question Id : 753229560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states of India, rice is grown as a commercial crop?
I. Haryana
II. Odisha
II1. Punjab

Options :

1. # Tand II
2. % Only II
3.9 Tand III
4. % Il and III

Question Number : 154 Question Id : 753229560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HRd & Fafafed 7 feg Tsu §, 9rad te a1fvifeas Bad & =4 H ST SIdT 82
1. gfaron
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111, G

Options :

1. % 13U

2. % HAAII

3. ¢ [T

4. % [ITUTII

Question Number : 155 Question Id : 753229561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the dry farming?
L. Cultivation of crops in areas where rainfall is less than 100 cm.

II. Grains like maize and bajra are grown in this farming.

III. Dry farming areas are highly vulnerable to soil erosion.

Options :

1. % Tand II

2. % Only I

3. % I, IIand III
4. % Il and 11T

Question Number : 155 Question Id : 753229561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b HiY F Feof & Fafiea & o w1 sy a8t 32
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1. 39 Tl H HahT 3R SoRT SIY 3T 37T Si1d & |
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Options :

1. % [3R1I




2. % HAd [
3. % [ 11 3R I
4. % 11 3R 111

Question Number : 156 Question Id : 753229562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which side of the golden quadrilateral corridor has the longest length?
Options :

1. ¥ Mumbai-Chennai

2. % Delhi-Mumbai

3. % Kolkata -Chennai

4. % Delhi-Kolkata

Question Number : 156 Question Id : 753229562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wWitf Iy TR & 6 fr R &t dars ved el 82
Options :

1. % Gag-o7s

2. % focell-gas

3. ¢ PIADI -ATS

4. % focql-PIad

Question Number : 157 Question Id : 753229563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The largest producer of feature films in the world is
Options :

1. # Nigeria

2. ¥ India



3. % Japan
4. # Russia

Question Number : 157 Question Id : 753229563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay A PR Al FTHsI dSTIAGH g
Options :

1. % gl

2. ¢ Sfean

3. % NI

4, % Y

Question Number : 158 Question Id : 753229564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum horizontal distance that is reached by a tsunami is referred to as
Options :

1. % flow depth

2. ¥ inundation

3. * run-up

4. % datum level

Question Number : 158 Question Id : 753229564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gRT S 3fYepay afosi g ugaci e, S FHEI o |

Options :

1. % Ul S
2. ¢ SI3FSYH
3. % 3930



4. % SeHAOAA

Question Number : 159 Question Id : 753229565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the Ministry of Home Affairs is the nodal ministry at the centre for coordinating disaster management activities for all natural hazards
except

Options :

1. # Volcanic disaster
2. % Drought

3. % Tsunami

4. # Landslide

Question Number : 159 Question Id : 753229565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST $Yar

2. Ul

3. % A

4. % Y&

Question Number : 160 Question Id : 753229566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following measuring scales is used to determine the intensity and severity of earthquakes?
I. Mercalli scale
II. Saffir-Simpson scale

Options :
1. ¥ Only I
2. % Only II



3. % Bothland II
4. % Neither I nor 11

Question Number : 160 Question Id : 753229566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad AT & QU & 9 1 I Yy Bt <digar aul TR &1 Fuiia H9 & e saard gl 82
L. Hhoall o d
1. Sftp- Ry W

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % AT I
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Question Number : 161 Question Id : 753229567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pre-disaster stage of disaster reduction and management is also known as PMP stage. Which of the following combinations of steps is correct?
Options :

1. ®* Permission, Maintenance, Preserve

2. ¥ Preparedness, Mitigation, Prevention

3. % Provoke, Monitoring, Precautions

4. # Preserve, Mitigation, Planning

Question Number : 161 Question Id : 753229567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TIET =LATHRUT 3R TS o Jd-3MTUaT TR0l HI GL.uH. M. TRO1 & w0 § 1} 1 1 8 | Fafeied o 9 =Ron &1 oiF 91 Saie 981 82

Options :

1. % Ui, ey, Oed

2. ¢ TS, ffensH, fdwm
3. % Jdich, HIHCR, DI
4. % TOrgd, ffen=E, @i

Question Number : 162 Question Id : 753229568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The National Food Security Mission (NFSM) was launched in as a crop development scheme.
Options :
1. % 2000
2. % 2012
3. % 2004
4. % 2007

Question Number : 162 Question Id : 753229568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Wrel YR&f R (T1.00% . TH.TH.) ! B fder gieHT & &0 | 3= fobam T 4T
Options :

1. % 2000

2. %2012

3. % 2004

4.+ 2007

Question Number : 163 Question Id : 753229569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following correctly defines the economic development?
Options :

1. # Size of population

2. % Size of Output

3. ¥ Size of Output + Economic Welfare

4. % Size of population + Size of income

Question Number : 163 Question Id : 753229569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed & 9 31 e faebrg o1 It <1 9 uRHING Sl 82

Options :



1. % SICHT BT HTHR
2. % 3M3CYC B DR
3. ¢ 3T3CYC B MHR + AP BTl
4. % ST BT HTDR + 3T BT HHR

Question Number : 164 Question Id : 753229570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Per Capita Income of a country is derived by

Options :

1. # multiplying total savings with total population

2. ¥ dividing national income by total population

3. # multiplying total production with total population

4. % dividing total expenditure with total income

Question Number : 164 Question Id : 753229570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH WP UAATAT WU SIS G |
Options :

1. % S §Id DI o TG H 0N HIA

2. ¢ AP 31 I ol ST H fIHTIIT

3. % P I I Hol T HBHT H 0N HIA

4. % $d I Bl ol AT Y fautford w1

Question Number : 165 Question Id : 753229571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foreign trade can make manifold contributions to growth. Which of the following statements is correct regarding the role of foreign trade in
economic development?

L. It increases domestic workers’ welfare.

II. It helps with the complete reduction of poverty in all the developing countries.



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 165 Question Id : 753229571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % Had Il

3. % 1YT I gH

4. % A IAIE 1

Question Number : 166 Question Id : 753229572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The unorganised sector in an economy is characterised by
Options :

1. ¥ absence of social security

2. # total government control

3. # high-payment

4. % high productivity syndrome

Question Number : 166 Question Id : 753229572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. AT YRE BT S{HTd
2. % Bl WDR] =0

3. % I YITdH

4. % I IATGHdl RigH

Question Number : 167 Question Id : 753229573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Moral suasion is a technique of credit control.
I. Qualitative
II. Quantitative

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 167 Question Id : 753229573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A gaa I T &1 U GERICA

RIEED
1. 9D

Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % I I

Question Number : 168 Question Id : 753229574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a money market instrument?
Options :

1. # Certificate deposits

2. % Treasury bills

3. ¥ Commercial paper

4. ¥ Bonds

Question Number : 168 Question Id : 753229574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % STHTYHIU UA
2. % TR} fad

3. % qIiorcys U
4. ¥ 94T

Question Number : 169 Question Id : 753229575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which measure of money supply is known as monetary base?
Options :

1. % M3

2. % MO

3. % M4

4. % M2

Question Number : 169 Question Id : 753229575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 MYl & e A19 &1 Afgd SMYR & =0 T ST STl 62




Options :
1. % M3
2. % MO
3. % M4
4, % M2

Question Number : 170 Question Id : 753229576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bank should classify an account as NPA only if the interest due and charged during any quarter is not serviced fully within from the
end of the quarter.

Options :

1. # 70 days
2. % 180 days
3. % 90 days
4. % 120 days

Question Number : 170 Question Id : 753229576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 70feT

2. % 180 feT

3. ¢ 90 faA

4. % 120feq

Question Number : 171 Question Id : 753229577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On basis of Indian constitution, which of the following statements is correct regarding the union-state relations in India?



I. The union has power to protect the states from external aggression.
II. The union has power to protect states from internal disturbance.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 171 Question Id : 753229577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 172 Question Id : 753229578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a statutory body in India?
I. Planning Commission
II. Finance Commission

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. Only I
2. Only I



3. Both I and II
4. Neither I nor 11

Question Number : 172 Question Id : 753229578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 ®F I URd & U& wifafe Fem 781 82
. IS RT

11. ot s

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ®Had |

2. pad I

3. 19UT I gt

4. TG IR

Question Number : 173 Question Id : 753229579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every five years, the appoints a finance commission.
Options :

1. ¥ President of India

2. # Prime Minister of India

3. # Finance Minister of India

4. # Vice-President of India

Question Number : 173 Question Id : 753229579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



BRRIEEISE: T o S &t fAgfad axar g
Options :

1. ¥ YRd o yufd

2. % YRd & GYHAT

3. % YRd & o ot

4. % YRd & IWIPUfd

Question Number : 174 Question Id : 753229580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following commissions set up by the central government was associated with the Centre - State relations in India?
Options :

1. # A.K Mathur Commission

2. % Khosla Commission

3. % Sarkaria Commission

4. % Kanpur Commission

Question Number : 174 Question Id : 753229580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% WBR gRI TS FEfafad & T S IT 3N URd § $H%-I5g Jaet I Jafid g2
Options :

1. % Tob. ATYR AN

2. % W ANT

3. ¢ TRBIAT SART

4. % DGR AN

Question Number : 175 Question Id : 753229581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a symbol of Telugu Desam Party?



Options :

1. # Car

2. ¥ Bicycle
3. % Scooter
4. #* Truck

Question Number : 175 Question Id : 753229581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 3xm uTe &1 gHTa forg R g
Options :

1. ® ®R

2. ¥ SIS HISHA

3. % WHAY

4. % ch

Question Number : 176 Question Id : 753229582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of ‘Type of political parties — Name of the party’ is correct?
I. National Party — Communist Party of India

II. State Party — Aam Aadmi Party

I11. State Party — All India Trinamool Congress

I'V. National Party — Indian National Congress

Options :

1. % 1, 1T and III

2. % 1L, III and IV
3.% [ Il and IV

4, % L 1I, I and IV

Question Number : 176 Question Id : 753229582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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1. 59 TSl — 319 3MTeHT uref
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IV. PR U1ef — HRR IS B
Options :

1% 13RI

2. % I 111 3R IV

3¢ 1L 3R IV

4. % [ 11, 1 3R 1V

Question Number : 177 Question Id : 753229583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following regional parties is mainly associated with southern India?
Options :

1. ¥ Dravida Munnetra Kazhagam

2. % Aam Aadmi Party

3. % Samajwadi Party

4. % Shiromani Akali Dal

Question Number : 177 Question Id : 753229583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ &S G T H

2. % 3T 3TeH uret

3. % gHTSfarat uréf

4. % R 3fbTeil G




Question Number : 178 Question Id : 753229584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The local self-government has been given the constitutional status for the tier of government in India.
Options :

1. % second

2. ¥ third

3. % first

4. % fifth

Question Number : 178 Question Id : 753229584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g

2. ¢ T

3. % JYH

4. % UEId]

Question Number : 179 Question Id : 753229585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states do NOT have a bi-cameral house?
Options :

1. % Uttar Pradesh

2. % Karnataka

3. ¥ Sikkim

4. # Bihar

Question Number : 179 Question Id : 753229585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IR USY

2. % HAlCH

3. ¢ Rufdpn

4. % fogR

Question Number : 180 Question Id : 753229586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, which of the following urban local bodies is created by a separate act of state government for the administration of small towns?
Options :

1. ¥ Town Area Committee

2. % Township

3. ¥ Cantonment Boards

4. % Municipality

Question Number : 180 Question Id : 753229586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H BIC BRI & TR o [T 0T RBR & Th e iTIfam gRT FafaRad & 9 &F a1 w6t RIF e 9 Sirdr g2
Options :

1. ¢ I3 URAT HHC

2. % CI3ARMY

3. % Bl A

4. % IR UTfeleh
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Question Number : 181 Question Id : 753229587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following officer of the government is a generalist official with Panchayati Raj Institution?
Options :

1. * Mayor

2. % Extension officer

3. ¥ Block Development officer

4. * Financial officer



Question Number : 181 Question Id : 753229587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHR b1 FEfied 7 § 14 91 ifeR) darad I T &1 9 s 82
Options :

1. % TEUR

2. % fIER SHfIBRY

3. ¢ TS [da SRl

4. # fo<itg siftrepry

Question Number : 182 Question Id : 753229588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding democracy in India?

I. The provisions of democracy in India found its place in government of India act 1909.
II. India opted for parliamentary form of government.

III. Village level government in India is based on the Gandhian principles.

Options :

1. #® Tand II

2. % Il and IIT
3. % Tand III

4. 1,11 and 11T

Question Number : 182 Question Id : 753229588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA # didbaa & de # Ffiad & § o 91 %Y= 81 82

1. HRA § d@idhad & WaUM! 4 HRd WRBR AT 1909 H 301 I U]
1. YR 7 RBR o G WY bl AT
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Options :




1% 1dUT i

2. % I dYr
3. % AT I
4. 1 11 dYT 1T

Question Number : 183 Question Id : 753229589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the minimum age required to qualify for election as President of India?
Options :

1. ¥ 35 years

2. % 40 years

3. % 55 years

4. % 45 years

Question Number : 183 Question Id : 753229589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & PR & = B fafas 3 forg srgar e &= & forg =gy sy fasait gt anfgwe

Options :

1. 359Y
2. % 40 Y
3. % 5599
4. % 45734

Question Number : 184 Question Id : 753229590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Maoist 'people's war' in Nepal was launched in
Options :

1. # 1971



2. % 1954
3. % 1962
4. ¥ 1996

Question Number : 184 Question Id : 753229590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar3{iaret “Uigey arRe Aura 4 T = Bt T AT
Options :

1. % 1971

2. % 1954

3. % 1962

4. ¥ 1996

Question Number : 185 Question Id : 753229591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the political struggle of Nepal and Bolivia?
I. The movement in Nepal was to establish democracy, while the struggle in Bolivia involved claims on an elected, democratic government.
II. The struggle of Nepal was successful whereas Bolivia’s struggle was a failure.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 185 Question Id : 753229591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU 3R SeHfIaT & et Tuy & TeH H FuferiRad & T & 31 oy I8 82
L AUTd § 3feia didbda ot RITYAT & forw UT, Safes Sicfifaar & o # ves Raffud, aiediiRe TReR WR gra i 31
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Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 186 Question Id : 753229592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Appointments of officers and servants of the Supreme Court is made by the
Options :

1. # Prime Minister of India

2. ¥ Chief Justice of India

3. % President of India

4. # Attorney General of India

Question Number : 186 Question Id : 753229592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y A & BIRGT iR Yt b Fgfaaar wRa gl
Options :

1. % YRd & Yy HAl

2. ¢ URd & &I A

3. % YR b APUd

4. % YRA & HEHAIATS]

Question Number : 187 Question Id : 753229593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sixth schedule of the Indian constitution provides provisions for the administration of tribal areas of certain states. Which of the following
states is NOT mentioned in that schedule?

Options :



1. # Mizoram

2. % Assam

3. ¥ Meghalaya

4. ¥ Arunachal Pradesh

Question Number : 187 Question Id : 753229593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT WA &1 B3t T T Idl & STl &3 B TR & o1 U1ay™ Ue ol ¢ | Fufaiad & § iy I &1 Iooa 39
S H e 8

Options :

1. % foeiRA

2. % 3H

3. % HyTery

4. ¢ SFFUTTA U&=

Question Number : 188 Question Id : 753229594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Constituent Assembly of India divided its work among different committees for its smooth functioning. Which of the following committees
are correctly matched with their respective chairman?

I. Union Power Committee- Jawaharlal Nehru

II. Steering Committee — Rajendra Prasad

1. Union Powers Committee — Sardar Vallabhbhai Patel

Options :

l.¥ Tand I

2. % Il and III
3. % I Il and III
4. % JTand III

Question Number : 188 Question Id : 753229594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 13RI

2. % 13RI

3.% 13RI

4. % 13RI

Question Number : 189 Question Id : 753229595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following article of the Indian constitution is correctly matched?
I. Article 56 — Term of office of President

II. Article 60 — Qualification for election as a President

II1. Article 67 — The Vice-President of India

Options :

1. * Only I
2. % JTand II
3. % Only I
4. % Il and III

Question Number : 189 Question Id : 753229595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
uﬂ?ﬁaﬁﬁuﬂ%ﬁa@@aﬁﬁ DI T 3G ot GHrd 87
L. 313_%3 56 — ?IQQI% gerafe
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Options :




1. % FHad I
2. % 3R 11
3. ¢ $had |
4. % 13RI

Question Number : 190 Question Id : 753229596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding the Attorney-General of India?
I. The Attorney-General has the right of audience in all courts in the territory of India.
II. The remuneration of the Attorney-General is fixed by the President.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 190 Question Id : 753229596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & Herargdret & de # fRufoiad § @ &1 W oy 98 82
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Options :

1. % Had 1

2. % Had Il

3. ¢ [ QYT I gl

4. % I I

Teaching Methodology



Group Number : 11

Group Id : 75322933

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 75322933

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 75322939

Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 753229597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At upper primary/elementary school level, which of the following is NOT a general aim of learning social sciences?
Options :

1. # To develop the democratic citizenship qualities among students

2. # To help students to participate in socio-economic institutions

3. % To develop moral values, emotional qualities and sense of belongingness among students

4. ¥ Not to develop the sense of social competence and social commitment in students



Question Number : 191 Question Id : 753229597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Tty MR femas TR W, e & & &1 a it fagm & sty o1 e SR e 87
Options :

1. % BHE T didbdie ARG & 0N 6T fabT™ HAT

2. % B P TG -3Nfes IR # HTfieR) o+ & Tgradl &1

3. % BEH Afde qedl, YT O 3R 3O-U B HIaHT HT fadhr Sl

4. BT H IS T 3R TS Ufdagdl &1 HIgT BT fahry 7 &1

Question Number : 192 Question Id : 753229598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors need to be considered while selecting a strategy in social sciences class?
I. Availability of resources

I1. Ability of the students

III. Content

IV. Objectives

Options :

1. % II and 111

2. % [ ITand IV

3. 111, Il and IV
4. % Iland IV

Question Number : 192 Question Id : 753229598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I dYrI

2. % LIIdUTIv

3. LILINTUTIV
4, % I dUTIV

Question Number : 193 Question Id : 753229599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To make the task of assessment easy and more accurate, the expected learning outcome should not need to be
Options :

1. # specific

2. ¥ unmeasurable

3. % achievable

4. % realistic

Question Number : 193 Question Id : 753229599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT & BT DI T 3R 3HfIF Tt s & o, sofea A oo s SR & raxgdhdr 78! g1 =i
Options :

1. % fafary

2. ¢ AT

3. % JUas- I

4. % Rdided

Question Number : 194 Question Id : 753229600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are the categories of classrooms in terms of classroom management.
I. Adequate classroom environments




II. Orderly classroom environments
I11. Dysfunctional classroom environments

Options :

1. # Il and III
2. % Tand III

3. % Tand II

4. % 1, 1I and III

Question Number : 194 Question Id : 753229600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Tt b YgH | wefmall B AT 5
1. T T aTeTaRol

11. TR DT TR0l

111. ST & ardrero

Options :

1. % I dYrI

2. % 1dYT 111

3.% 144Ut

4. LI dYTIII

Question Number : 195 Question Id : 753229601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Line’ is one of the basics for learning art through exploration and understanding from the immediate environment. Which of the following
combination of ‘type of line — what it indicates’ is NOT correct?

Options :

1. # Curved lines — Aesthetic appeal
2. % Diagonal lines — Movement

3. ¥ Horizontal lines — Sign of life

4. % Vertical lines — Greatness



Question Number : 195 Question Id : 753229601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % ST EN - HigaidAd SHHY0
2. % foRe @ - fd

3.« &fael ATt - Sfta &1 fog

4. % FI9d ¥EU - G

Question Number : 196 Question Id : 753229602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Carl Jung, mental activities takes four dominant forms. Which of the following are those forms?
I. Thinking

II. Sensation

II1. Intution

IV. Feeling

Options :

1. % II, Il and IV
2.% LI Il and IV
3. % ITand IV

4. % Only III

Question Number : 196 Question Id : 753229602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IL NI dUT IV
2. LIL LT AT IV
3. % I dUT IV

4. % Had III

Question Number : 197 Question Id : 753229603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the term used over the years to denote the shift to stop the segregation of children with disability for the purpose of education.
I. Mainstreaming
II. Integration

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 197 Question Id : 753229603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 198 Question Id : 753229604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct?
Options :

1. # Constant — Gender

2. % Socio cultural context — Sex

3. % Systemic — Sex

4. ¢ Hierarchical — Gender

Question Number : 198 Question Id : 753229604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad & 9 1 w1 JaieH I8! 82
Options :

1. % RR W=

2. % QTSI AR deu — fefm

3. % HAfRYq - fefr

4. ¢ TRIY - WS

Question Number : 199 Question Id : 753229605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination of Language — Language family in India is NOT correct?
Options :

1. # Tamil — Dravidian

2. % Hindi — Indo Aryan

3. % Tripuri — Tibeto-Burman

4. ¥ Telugu — Indo Aryan

Question Number : 199 Question Id : 753229605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qfd - gfdfead
2. % fgdl - <81 oA

3. % B - fossdl-at=

4. ¥ T - ST 3

Question Number : 200 Question Id : 753229606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a principle of Growth and Development?
Options :

1. # Principle of Individual Difference

2. ¥ Rate of growth and development is uniform

3. # Principle of interrelationship

4. ® Predictability

Question Number : 200 Question Id : 753229606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % iGaTd iR &1 Riid

2. ¢ G 3R fAH™ &1 &R TH THM il ©

3. % Sfadey &1 Rgia

4. % TG




